
9 Mayıs 2021 Pazar Yarış Sonuçları Adana Hipdromu (8. Yarış Günü)

4. Koşu  Saat:18.00 Maiden/DHÖW 57 kg, 1200 Kum

İkramiye 1.) 60.000 t 2.) 24.000 t 3.) 12.000 t 4.) 6.000 t
Yetiştirici Primi 1.) 17.250 t 2.) 6.900 t 3.) 3.450 t 4.) 1.725 t

Forma S At İsmi Yaş Orijin(Baba - Anne) Sıklet Jokey Sahip Antrenörü Derece Gny AGF St Fark G. Çık. HP

1 ÇÖLDE AY(12) 3y k d DEMİRSOY - SAMSUNLU SEBAHAT 53 T.BALİ HÜS. ÖZSÖNMEZ A.DİNÇ 1.23.90 9,30 11.92(5) 4 1,5 Boy

2 OĞLUM HASAN(4) 3y a e KAYATUFAN - HAFİZEHANIM 53 M.KIYAK BEŞ. KAYA A.DİNÇ 1.24.10 6,90 8.19(7) 3 5 Boy

3 SARRAFBABA(6) 3y k e SARRAF - ZELYURT GÜLÜ 57 N.ALTIN GÜN. SAÇAN K.YILDIZ 1.24.98 3,95 15.75(2) 10 1,5 Boy

4 ARAS AĞA(1) 3y k e DOĞANGÜN - ENDAM 57 M.AKYAVUZ MUS. DOĞAN C.KATI 1.25.18 4,25 13.36(3) 6 Baş

5 TAÇAZAD(7) 3y k e EFEM - KIZILCIKLI 57 E.TUNÇ A. SAM. COŞKUN M.KILIÇSEREN 1.25.21 2,40 20.16(1) 2

6 ASİL TOPRAK(2) 3y a g KARABEDİR - KÜBRA HANIM 54 M.G.ARSLAN BAK. YAŞARTEKİN C.KATI 1.25.26 10,65 8.86(6) 1

7 ADIMGÜNEŞ(9) 3y k d AĞA KARACA - ECEM HATUN 51 M.ŞAKİR M. TAH. AKSOY Y.TUNCAY 1.26.68 35,25 2.77(8) 8

8 CEZASIZ(11) 3y a d ATİKBEY - TELEK 51 A.AKDEMİR MEH. AKDEMİR K.YILDIZ 1.27.24 32,10 2.1(9) 13

9 AKBAŞ RÜZGARI(10) 3y k d TOŞUR - KÜÇÜKKIYAMET 55 H.BUDAK ZEK. DOĞAN O.GÖRMEZ 1.27.59 69,30 0.77(12) 12

10 RAKİCAN(5) 3y k e DOĞANGÜN - KÜLÜNÇELİ 57 V.DEMİR HÜS. BECENE M.A.ÜRENÇ 1.31.08 78,40 1.43(10) 9

11 KAYZENBERK(3) 3y a e KAIZBERT (RU) - NAR TANESİ 57 F.YARDIMCI REC. YAVUZ A.KAPLAN 1.33.82 11,55 12.79(4) 11 7 Boy

12 YEKHAT(8) 3y a e KARABEDİR - MAVİ MELEK 54 E.ÇANKAYA SİN. KORKMAZ K.YILDIZ 1.34.13 113,75 1.32(11) 5

13 KIZIM SÖNMEZ(13) 3y k d DEMİRSOY - SELAY 55 İ.GÖÇER HÜS. ÖZSÖNMEZ A.DİNÇ 1.36.07 9,30 0.59(5) 7

GANYAN(12) :9,30 t, 1. 4'LÜ GANYAN(2/1/1/12,13) :6,99 t, 1. 3'LÜ GANYAN(1/1/12,13) :9,05 t, İKİLİ(4/12) :42,25 t, SIRALI İKİLİ(12/4) :81,25 t, ÜÇLÜ BAHİS(12/4/6) :88,02 t, PLASE(12)
:5,20 t, PLASE(4) :5,05 t, PLASE İKİLİ(4/12) :23,20 t, PLASE İKİLİ(4/6) :13,10 t, PLASE İKİLİ(6/12) :9,50 t, SIRALI 5 Lİ BAHİS(12/4/6/1/7) :433,87 t, 3. ÇİFTE(1/12,13) :40,20 t


